| Efficiency vs Dxy |
0.1

R

T e
Q7
0.0 il \ _______ S

oo

ooyl
003 i
0z B
SRS S S IR TN | T I B
0.0L et oy ﬁM """"
J-O-EIIII:IIII:III:IIII. I:II:*II!IIII!IIII:IIII
1055_ ...................................................
TS e e 004 111314 NN S S S

09 56-16-10 =5 0 5 10 15 20 25

—=— DQM_DisplacedSUSY__mkFit_

| Efficiency vs Dz |

—— DQM_DisplacedSUSY__mkFit_BDT_

0.1
0.09
0.08
0.07

|
»
#-
-
—
»

0.06{1-1[
005l oL

0.04f- I 3
0.03}

0.02- 141!}

0.01 |

1
1.2

1B
0.9

°535

T
e




	Contents
	Page 1


